ZAEFETHE (SMR) (BEM#HEM - BH) (H20—24) £E: 100
HHET#T - RIERRT SMR TR LR
753 R 5 = 97.0 95.4 98.5
= R B R B & 94.3 91.8 96.9
mOE R B BE & 98.3 93.5 103.0
n mwm R B8 E B B 100. 1 94. 6 105. 6
H K R # E & 99.3 92.9 105.6
AR - RFIERRE BB 90. 1 86.2 94.0
2 R &R B E & 101. 3 95. 1 107.6
F B R B E & 95.0 90. 4 99.5
BE £ R B E & 102.5 93.6 111.4
T £ R BB E B B 102.7 97.1 108. 3
XEREREHEEERTR 2 656 AFRK
EUTEY B (20—24) ZHRERBEEE
120 | eSMR -TFR -LtRE |
110 T
: ‘|
100
¢ 5 ! % ¢ L
90 %
80
= i3 53] I H B = BT #e =
" 5] 3 3 K B 7 = £ ES
[ B % = % . % ® % ®
=] = Vi 2 e ® Vil Ve e Ve
Vi E E E 1% E E E =
& & = & ® & & & &

E}




ZAEERETHE (SMR) (EM#HAEY - &%) (H20—24) =£FH: 100
HHETH - RIERR SMR TR LR
e R 5 =} 95.9 94.1 97.7
BE R B R £ & B 98.4 95.4 101.5
mE R B E & B 95.6 90.3 100.9
nm mEw R B BE & 95.3 89. 1 101.5
H K &R B E & 98.5 91.2 105.9
wE - FEREERERBE 97.3 92.5 102.0
2 RN R B E & 102.0 94.6 109. 4
F B ® B E & B 94.0 88.6 99.4
BE £ R B E & 89. 1 79.2 99.0
T == R B2 E B B 85.3 79.4 91.2
XEREEERIEERTR2 6456 AR
EETEY L (19—23) ZXREBEEE
| eSMR -TFR -tRE |
120
110 I
100 = —
T S S S
90 L | ;
80 i L
70
= 53 53 I H & = BT 3 %=
[ I 3 3 K B 7 =] £ ES
g [ = % = . ® % ® %
] % i Vi3 2 2 Vs 2 Vs
Vs E E = E E = E
& = & & = & = &

[
[

[

E

B S PR R S A

&

i

&

[




ZHEETHE (SMR) (BAA-BMH%) (H20—24) £E:100
HHET#T - RIERRT SMR TR LR
753 R 5 = 73.2 69.9 76. 6
BE R B &R £ & 70. 4 64.8 76. 1
mOE R B BE & 711.0 66. 3 87.8
n mwm R B8 E B B 74.9 62.8 87.0
H K R # E & 86. 8 711.7 101.9
AR - RFIERRE BB 58.9 50. 8 66.9
2 R R B E B B 74.6 61.0 88.2
F B R B E & 13.9 63. 6 84.1
BE = B B E & 78.0 58.2 97.7
T £ R B2 E B B 83.9 11.1 96. 7
XEREEBERIEERTR 2656 AR
EANA B (20—24) ZKRERBREEER
¢SMR -TFIR -tIR
110
100 - -
90 T
e R ¢ o i
L |
60 . %
50
= 3 7 il H ) @ BT fE %=
" [ 3 3 k B 1 =] £ =
[ B % = % . % % ® %
2 ® Vs Vi Tied ® Vil Vil 2 Vi
Ve E E E 1% E E = E
#




ZHEILFETE (SMR) (BAA &) (H20—24) =£H:100
HETAT - RIERT SMR TR LR
e R =] =} 73.9 69. 5 18. 2
BE R B R £ & B 11.2 63.7 78.6
mE R B E & B 80.4 66. 7 94. 1
m Ew R £ E B B 7.1 56. 1 86. 1
H K & 2 E & B 80.9 61.9 99.9
wERE -FERRBERHEBE 71.7 60. 1 83.2
2N K& BB E B B 79.1 60. 6 97.6
F B ® B E & B 84.7 70. 1 99.3
BE £ R B E & B 63.0 39.2 86.7
T == R B2 E B B 63.9 49.7 78.2
XEEIR BB R TR 2 646 AERL
BEAA T (20—24) ZRERBEEE
| ¢SMR -TFR -t |
110
100
© 1% + 1] ‘ T
0 IR S S
o ¢
60 |
50
40
30
B B 53 I H & & BT 3 %=
] I 3 3 7k B 1 B £ ES
g g " ® = " = ® ®
] ® i e i i i i e
fe E 3 E E 3 B 3

o
&
i

E

B S R R A -
[H
[0
[oH
[0




ZAEFETE (SMR) (idA - B (H20—24) £E:100
THET# - CRIERT SMR TBR LR

3 R 5 bt 92.0 89.0 95. 1

E B 5B & 8 & B 92.9 87.7 08. 1

mOE KR & E & 90. 6 81.3 100.0

n & & & E & BE 98. 1 87.0 109. 2

H K & & E & 89.3 11.0 101.5

f R - FERREERBE 87.1 79.3 95.0

g RN K B E & 88.5 76.7 100. 4

F B & & E & 83.3 74.6 92.0

BE £ B B E & 95.2 11.7 112.7

7T X R & E & B 100. 6 89.3 111.9

XEREEREBERTR 2 6 F6 AER
ffintAh Bl (20—24) ZRERERERE
| #SMR -FB -LtR

120
110 T T

. s ! I ¢

Y

il B |
70
B i3 i Il Hi & = i e &
7 7 3 3 K B 7 B £ S
5 B £z 7 £z : £z 7 £z 7
R 7 fi2 2 fi2 # fi2 2 fi2 fi2
fi2 E E B fx E E E E
# 7 # 7 & 7 # # #

R % M R




FHEFETHE (SMR) (\MA - %) (H20—24) £EH:100
TETH - REEFT SMR TR LR
53 U 5 (=3 98.4 93.6 103. 2
BE R B &K & & B 101.7 93.2 110. 1
mE R & E B B 95.2 81.1 109. 4
n w®Ew R & E & B 104. 4 87. 1 121.8
H oK R & E & 91.5 12. 4 110.6
wmE - RFERRBEIRE 101. 1 88.0 114.2
T R K B E B B 88.0 69.5 106.5
F B R & E & B 85.5 7.7 99.4
B E KR & E B B 118.8 87.9 149.6
T X R B E & B 102.0 84.17 119.3
XERBREEBHR TR 2 646 AR
ffintAh & (20—24) ZREBRERE
¢SMR -FB -t |
150
140
130
120 T ¢

110
100 —¥ + Y T

I |
¢ |

o0 —1 .

80 =

0 i i

60
i3 i3 3] | H & = B BE =
Uzl U=} 3 -3 7K B i B ES ES
=) B £3 3 =3 3 % £3 %
=3 %® i i i i & & &

2 E E E E E E E

o
&
i

E

B S R R A -
[H
[0
[oH
[0




ZHEETHE (SMR) (KEBEHKA - B (H20—24) £E:100
HHET#T - RIERRT SMR TR LR
753 R 5 = 91.9 87.5 96. 3
BE R B &R £ & 89.8 82.4 97.2
mOE R B BE & 87.4 74.0 100. 7
n mwm R B8 E B B 97.4 81.3 113.5
H K R # E & 90.7 12.6 108. 7
AR - RFIERRE BB 85. 6 74.3 96.9
2 R R B E & 99.6 81.3 118.0
F B R B E & 93.1 79.6 106.5
BE = B B E & 97.7 71.9 123.6
T £ R B2 E B B 98.5 82.0 115.0
XEREEBERIEERTR 2656 AR
KIENA B (20—24) ZHREBEEE
130 | eSMR -TFR -LtRE |
120
110 T T T
100 ry T i 3
RRRER v |
80 -
| [
70 =
= i3 53] I H B = BT #e =
" 5] 3 3 K B 7 B £ ES
[ B % = % . % ® % ®
2 ® Vi 2 e ® Vil Ve e Ve
Vi E E E 1% E E E =
& & = & ® & & & &




TAELRETE (SMR) (KBMKA &%) (H20—24) £E: 100
HHETH - RIERR SMR TR LR
e R =] =} 88.6 84.2 93.0
BE R B R # & 95.6 87.17 103.5
mE R B E & B 79.6 67.1 92.0
nm mEw R B BE & 81.9 67.1 96.7
H K &R B E & 102. 7 83.1 122.2
wE - FEREERERBE 92.7 80.7 104.7
g2 R &R B E & 92.7 74. 4 11.1
F B R B E & 86.9 73.4 100. 4
BE £ R B E & 62.5 40. 8 84. 1
T == R B2 E B B 70.5 56.7 84.2
XEEIR BB R 2 64 6 AYERL
KENA THE (20—24) ZRREBEEE
| eSMR -TFR -LtRE |
130
120
110
100 - I
90 § t - T f ‘ ‘
80 + f L l I T
2 | + ..............
60 * |
50
40
30
= 53 53 I H & & BT 3 %=
[ ) 3 3 K B 1 =] £ ES
g [ = % = ® % ® %
] ® 2 Vi3 2 2 Vs 2 Vs
Vs E E = E E = E

o
&
i

E

B S R R A -
[H
[0
[oH
[0




ZHEILETE (SMR) EHAA-%&HE) (H20—24) £H:100
HHETH - RIERR SMR TR LR
e R 5 =1 78.3 12.6 84.0
BE R B R £ & B 91.2 81.1 101.3
mE R B E & B 76. 6 58.9 94.3
nm mEw R B BE & 84.8 63.3 106. 2
H K & B E & 59.1 38.3 79.9
wE - FEREERERBE 81.8 66. 2 97.4
2N K& BB E B B 74.9 51.7 98.2
F B ® B E & B 57.9 42.4 73.3
BE £ R B E & 41.2 16.9 65.6
T == R B2 E B B 66. 5 47.3 85.8
XERERBEHESRTH 2 6456 AR
AMNA L (20—24) ZRFEBEEE
| ¢SMR -TFR -ER |
120
100 I -
80 @ f | f % T 1
1 t ..
60 an I % l
40 L
20 L
0
= 53 53 I H & = BT 3 %=
[ I 3 3 7k B 7 =] £ ES
g [ = % = ® % ® %
] % Yied Ve Vel 2 Vs 2 Vs
Vs E E = E E = E

o
&
i

E

B S R R A -
[H
[0
[oH
[0




TAELRETE (SMR) (FENA-&MH) (H20—24) £FH: 100
HHETH - RIERR SMR TR LR
753 R 5 = 104.2 94.8 113.5
BE R B R £ & B 112.0 95.8 128.2
mE R B E & B 82.4 56. 6 108.3
nm mE R B EBE & 76. 2 47. 4 104.9
H K &R B E & 103. 7 64.6 142. 8
wE - FEREERERBE 117.7 91.1 144. 4
2 N B B E & 128.3 85.2 171.4
F B ® B E & B 101. 4 72.4 130. 3
BE £ R B E & 91.2 39.6 142.8
T == R B2 E B B 95.1 62.7 127.6
XERERBEHESRTH 2 6456 AR
FEAA TE (20—24) ZRIEEBEEE
| ¢SMR -TFR -t |
180
160
140 - T
120 ; + * T
T -
100 —§ — *> - + Y O
60 L i
40
20
= 53 53 I H & & BT 3 %=
[ I 3 3 K B 1 =] £ ES
g [ = % = ® % ® %
] ® i Vi3 2 2 Vs 2 Vs
Vs E E = E E = E

[
G

[

E

B S8 TR R S RF -

i
o
i
o




ZHEETHE (SMR) (MRE-BMH) (H20—24) £E: 100
HHET#T - RIERRT SMR TR LR
EE ) 5 = 94.5 92.2 96. 7
BE R B K # & B 87.8 84.0 91.5
mOE R B BE & 99. 1 92.0 106. 3
n mwm R B8 E B B 87.0 79.4 94. 6
H K R # E & 91.9 82.1 101.0
AR - RFIERRE BB 95.8 89.8 101. 8
B RN & B E & 115.1 105. 1 125.1
F B R B E & 91.1 84.4 97.8
BE = B B E & 97.9 84.7 111.1
T £ R BB E E B 91.4 83.6 99.2
XEREREHEEERTR 2 656 AFRK
DEER B (20—24) ZxRERBREEER
130 | eSMR -TFR -LtE |
120 L
110 -
% 1
100 - —
ol & T ¢ % _________________
* ? l
80 L
70
= i3 53] I H B = BT #e =
" 5] 3 3 K B 7 B £ ES
[ B % = % . % ® % ®
2 ® Vi 2 e ® Vil Ve e Ve
Vi E E E 1% E E E =
& & = & ® & & & &
& & & & ﬁé & & & &

E}




TAERETE (SMR) (VEE-%M%) (H20—24) =£E: 100
THHETH - {REERR SMR TR LR
e R =] =} 95. 4 93.5 97.4
BE R B R £ & B 92. 4 89.0 95.9
mE R B E & B 95.3 89.5 101.0
m Ew R £ E B B 98.2 91.4 105. 1
H K &R B E & 99.8 91.5 108. 1
wERE -FERREBEIR 97.7 92.4 103.0
g2 R &R B E & B 116.9 108.0 125.8
F B R B E & B 93.6 87.5 99.6
BE £ R B E & B 94. 1 82.5 105.7
T == R B2 E B B 81.1 75.0 87.3
XERBEREEERTR2 646 HHER
IMEER T (20—24) ZXREBEEER
| eSMR -TFR -tRE |
130
120 ;
110 T
T
100 % % L
NERFEE ! IO
80 % --------------
70
e i G I H & = BT B %=
] ] 3 (3 7k B 1 B E2 £
[ E ® = ® ® = ® =
& = i e i e 2 e f2
fi2 E E E E E E E

o
&
i

E

B S R R A -
[H
[0
[oH
[0




ZAEFETHE (SMR) (KMEXEE-BH) (H20—24) £E: 100
HHET#T - RIERRT SMR TR LR
753 R 5 = 116.6 113.5 119.7
= R B R B & 104. 1 99.2 109. 1
mOE R B BE & 142.1 131.7 152.5
nm mwm R B8 E B B 114. 4 103. 8 124.9
H K R # E & 116. 6 104.0 129.2
AR - RFIERRE BB 115. 4 107.4 123.5
g RN & B E & 128.3 115.5 141.2
F B R B E & 115.6 106. 5 124.8
BE £ R B E & 100. 2 84.0 116.4
T £ R BB E B B 114.8 104. 2 125.5
XEREREHEEERTR 2 656 AFRK
IXMEZESR B (20—24) Z—rkEREEE
160 | eSMR -TFR -LtRE |
150 T
140 f -
130
R ¢ v * T e
pe L - + L
100 -
90 I
80
= i3 53] il H ) @ AT #e =
" 5] 3 3 k B 7 B £ ES
[ B % = % . % ® % ®
2 ® Vi 2 e ® Vil Ve e Ve
Vi E E E 1% E E E =
& & = & ® & & & &

E}




REMLRFETHE (SMR) (RKNMELSE - %% (H20—24) £E:100
HETAT - fRIERT SMR TR BB
53 U 5 (= 12.17 110.0 115. 4
BE R B & & & B 102.9 98.3 107.4
mE R B E B B 134.5 125.9 143.2
n #®w R £ E B B 121.4 111.8 131.0
H K &R & E & B 122.1 111.1 134.3
wE -FERRBEEB 117.2 109.9 124.5
qF R R B E & 108. 3 97.5 119.1
F B KR & E & B 120. 6 112.0 129.3
B £ R & E & B 88.8 74.17 103.0
T = R B E B HE 94.7 86.3 103. 1

XERERBEHESRTH 2 6456 AR

INMEEERE &= (20—24) ZREBEEE
| eSMR -FR -LE |

150

140 ;

- T

130 i ‘

120 J. %

110 4 s ;

100 - — u ;
90 + I
80

L
70
3 3 m Ji aj 14 = W # %
B B i & X B 7 B S =
1 1 & & = . % & & &
B & f 2 2 @ 2 2 2 2
2 E E B t E B B E
P P # e = p P # #
= 2 2
B

g




ZAEFETHE (SMR) (BAIlfx - BE) (H20—24) £H: 100
HHET#T - RIERRT SMR TR LR
753 R 5 = 195. 1 180.5 209. 7
BE R B R B & B 165.5 142.8 188.3
mOE R B BE & 186. 1 141.2 231.1
nm mwm R B8 E B B 204.9 151.2 258.5
H K R # E & 268.9 197.9 340.0
AR - RFIERRE BB 183.9 146. 1 221.6
g RN & B E & 287.2 215.7 358.7
F B R B E & 225.0 177.2 272.8
BE £ R B E & 332.9 224.2 441.7
T £ R BB E B B 117.6 76.9 158. 4
XEREREHEEERTR 2 656 AFRK
AmFE Bt (20—24) —REBRERE
| ¢SMR -TFR -Lt[E
450 =
400
350 T T .
300 ‘
- T
250
R .
150 § = & 1
100 T
50
= i3 53] I H B = BT #e =
" [ 3 3 K B S = £ ES
[ B % = % . % ® % ®
=] = Vicd Vel e ® Ve Vel i Vel
Vi E E E 1% E E E =
& & = & ® & & & &

E}




ZAEERETHE (SMR) (AmfE - &%) (H20—24) £F: 100
HETAT - RIERT SMR TR LR
e R 5 =1 222.6 204. 5 240. 7
BE R B R £ & B 187.2 158.9 215.5
mE R B E & B 206. 6 153.4 259.8
nm m®Ew R B EBE & 299. 3 224.8 373.8
H K &R B E & 290.4 204. 6 376.2
wE - FEREERERBE 220.9 172.5 269. 4
2 RN R BB E & 392.7 294.2 491.3
F B R B E & B 207.5 153.2 261.9
BE £ R B E & 276.0 158.0 394. 1
T £ R B2 E B B 153.3 99.3 207.3
XEEIR BB REEEETA 2 646 AR
BHmE &M (20—24) ZXREBEEE
‘ ¢SMR =TFTB =-L[E
500
450
400 ¢
350 T
300 + *
250 T T T T *
* L
150 + rrrrrrrrrrrrrr
100
50
= i3 7 il H ) = BT B 5
I [l 3 3 k B 7 B £ %
E g = = = . = = ® ®
2 = e i Vs ® Vics 2 e e
e 3 E 3 1 3 E 3 B
= & = = " & = & =
B
=

B2




FELFETE (SMR) (BEF2-5%) (H20—24) £E:100
T4t - fRIEFR SMR TRR LR

& U 5 = 110.1 103. 3 116.9

BE R B K & & 112.1 100. 3 123.9

mOE R B E & 108. 7 88. 2 129.2

n mw R & E & E 118.2 94.0 142.3

H K R B E & 114.2 86.0 142.3

fR -FERBER 106.5 88.9 124.0

g R R B E & 104.8 18.5 131.1

F B R & E & 86.3 68.5 104.2

B E K B E & 103.3 65. 7 140.9

T = R B E B B 106. 5 83.5 129.6

XERSREEBHRTH 2 646 AR
BXre BMH (20—24) ZKEREERE

160 | eSMR -TFR -LE |
140 T

120 - 7 T
NEEEER P e e e e
. | i__#l

60
& & ] il H 5& & i B 5
U] LA 3 [ K R " = £ ES
5 5 = & = . 2 & i &
g & & & i * & & i &
7 E ES E & E E E ES
&2 & &2 & Vel & &2 & &2
=

E}




ZAEERETHE (SMR) (BXZ2 %) (H20—24) =£FH:100
HHETH - RIERR SMR TR LR
e R 5 =1 117. 2 111.1 123. 4
BE R B R # & 115.5 104.7 126.2
mE R B E & B 126.2 107.7 144.8
nm m®Ew R B EBE & 103. 4 83.7 123. 1
H K &R B E & 148. 6 120. 2 177.0
wE - FEREERERBE 104.7 89.2 120. 1
2N R BB E B B 132.6 106. 0 159.3
F B R B E & 122.6 103. 2 142.0
BE £ R B E & 85.2 54.2 116. 2
T == R B2 E B B 115.3 94.5 136.2
XEREEERIEERTR2 6456 AR
BEre & (20—24) ZRXRIABEEEE
| ¢SMR -TFR -tRE |
180
170
160
150 - *
140
130 - - ¢
I T ! :
100 < 2 f
90 L
80 *
70
60
50
= 53 53 I H & = BT 3 %=
[ I 3 3 K B 7 = £ ES
g [ = % = ® % ® %
] % Yied Vi 2 2 Vs 2 Vs
Vs E E = E E = E

o
&
i

E

B S R R A -
[H
[0
[oH
[0




FERETE (SMR) (£%RA-5%) (H20—24) £E:100
T4t - fRIEFR SMR TRR LR

FE R 5 12} 101.9 101.0 102.8
E R &5 & & & B 93.7 92.2 95. 1
mOE R &g E B B 107.1 104.3 109.9
n mw R & E & E 100. 5 97.4 103.6
H K R B E & 103.0 99.3 106. 6
& R FEREEREBE 99.0 96. 7 101.3
2 R R B E & 111.9 108. 2 115.6
F B & & E & 100. 5 97.8 103. 1
BE £ B & E & 106.5 101.3 111.7
T = R B E B B 109. 9 106. 6 113. 1

XERSEBEISERTR2 656 AEX

2RE BEH (20—24) ZRIFRERE
| eSMR -TB -LtIR

120

110 % 1 % ,,,,,,,,,,,,,,
P f
wo 2 s

90
& & ] il H 5& & i B 5
U] LA 3 [ K R " = £ ES
5 5 = & = . 2 & i &
g & & & i * & & i &
7 E ES E & E E E ES
&2 & &2 & Vel & &2 & &2
=

E}




REMLRRETHE (SMR) (£2%RA-%%) (H20-—24) =£E:100
TETHT - fREERT SMR TR EBR
553 U 5 (= 99.8 98.9 100. 7
BE R &5 R & & E 95. 4 93.9 96.9
mE R & E B B 104.9 102.3 107.5
n & R & E & 100. 2 97.3 103. 2
H oK & & E & B 106. 4 102.7 110. 1
w R - FEGRRBERBE 98. 1 95.9 100. 4
qF R R B E & 107.8 104. 2 111.5
F B R & E & B 100. 7 98.0 103.4
B E R B E & 102. 3 97.1 107.5
T = R B E B HE 97.2 94.3 100. 1
XERSEREMERTA2 656 AER
2XE XM (20—24) ZRREREERE
120 | SMR -TE -Lt[R |

%
T

——
——1

(= =

90
B e 5] n H = = FF 5 =
R’ U 3 =3 X R S = £ =
5 5 % ® ® ® ® ® ®
7 ® & 2 & & i & 2
2 ES = ES ES = ES ES

o
&
i

E

B S R R A -
[H
[0
[oH
[0




ZAEFETHE (SMR) (RMULHEE- B4 (H20—24) £H: 100
HHET#T - RIERRT SMR TR LR
753 R 5 = 124.6 119.5 129.7
= R B &R & & BH 115.4 107.0 123.8
mOE R B E £ B 130.5 114. 4 146. 7
nm mwm R B8 E B B 105. 1 88.6 121.6
H K R # E & 119. 1 98.5 139.6
AR - RFIERRE BB 118.7 105.5 131.9
g2 RN B B E & 134.5 113.2 155.7
F B R B E & 133.7 17.7 149. 6
BE £ R B E & BH 160.9 127.8 193.9
T £ R BB E B B 137.9 119.0 156. 8
XEREEBERIEERTR 2656 AR
2MIDEEE B (20—24) ZREREEE
200 | eSMR _-TR -t
180 T
160
i SRR
120 L < % i l % I L &
100
1
80
B i3 ] il H ) @ AT B =
] 5] 3 3 k B 7 B £ ES
g g ® " ® . ® " ® ®
2 ® Vi 2 e ® Vil Ve e e
e 3 E 3 1 3 B 3 E
" = = = = = = = =

E}




ZAELERETHE (SMR) (RMDODHEE- &%) (H20—24) £F: 100
HHETH - RIERR SMR TR LR
e R 5 =1 131.0 125.7 136. 4
BE R B R £ & B 125.6 116. 4 134.8
mE R B E & B 130. 4 114. 8 146.0
nm m®Ew R B EBE & 132.1 113.7 150.5
H K &R B E & 139. 1 116.6 161.7
wE - FEREERERBE 132.3 118. 1 146. 6
2N R BB E B B 140. 3 117.8 162.7
F B R B E & B 141.6 124. 5 158.8
BE £ R B E & 123.3 92.8 153.7
T £ R B2 E B B 124.3 106.5 142. 1
XEREEERIEERTR2 6456 AR
S2EDPHEE L (20—24) ZRERBREEE
| ¢SMR -TFR -LR |
180
160 - T
MERTIRIRIRAR: | }
100
80
= 53 53 I H & & BT 3 %=
[ I 3 3 K B 7 B £ ES
g [ = % = ® % ® %
] ® i Vi3 2 2 Vs 2 Vs
Vs E E = E E = E

o
&
i

E

B S R R A -
[H
[0
[oH
[0




ZAEETHE(SMR) (R% - BH) (H20—24) £EH: 100
HHET#T - RIERRT SMR TR LR
753 R 5 = 102. 4 94.2 110. 7
BE R B &R £ & 116. 3 101. 3 131.2
mOE R B BE & 68.5 47.5 89.5
nm mw R B E B B 87.0 60. 1 114.0
H K R # E & 111.5 76. 1 147.0
A B FlERBERE 108. 7 86. 1 131.2
g RN & B E & 116. 2 81.1 151. 4
F B R B E & 87.1 64. 1 110. 1
BE £ R B E & 100. 4 54.0 146. 8
T £ R BB E B B 85.1 58.4 111. 8
XERSERERERSM2E1 0 BER
HERE B (20—24) ZRERBREEE
| ¢SMR -FR -tRE
160
140
120 % Py l
100 —§ l J. l 4 l
80 l 1 l
60 i
40
fE i3 53 il H 5 = BF Be 5
[ [ 3 3 K B 1 = £ ES
= = % % % . % % % %
-] " Vel 2 Vel Ve Ve Vi B’ Vi
Vel E E E 1 E E E E
& = = = % = & = &
Vel
E

E




T (SMR) (HERFE - &) (H20—24) £H:100
THHETH - {REERR SMR TR LR
e R =] =} 97.5 89.7 105. 3
E R B R # & B 108. 4 94.0 122.9
mE R B E & B 107.0 83.0 131. 1
m Ew R £ E B B 83.3 58.4 108.2
H K &R B E & 85.1 55.1 115. 1
wERE -FERREBEIR 81.0 62. 1 100.0
2N R BB E & 110. 1 76. 4 143.9
F B R B E & B 110.0 84.4 135.6
BE £ R B E & B 89.6 45.7 133.6
T == R B2 E B B 67.6 45.2 90.0
XEEIR BB RS 2 £108 K
HERBE T (20—24) ZRERBREEE
| ¢SMR -FB -LtRE |
180
160
140
o I S SR v
T
100 —§ -
¢
w0 i # . % . ]
60 < i l
40
e B G I H & = BT B &
B ] [ 3 3 K B A =] £ %
g E ® = ® . ® = ® =
& = i fie i 1 i 2 e fi2
fi2 E E E * E E E E
3




